E 5 E HE

) L] TR R
e B
1 5081 2.7 6.0 0.91 0.96 12.7%12.7%1.15T
12.7 T=1.15
16.9
) 5082 6.0 1.54 161 16.9%16.9%1 45T
16.9 T=1.45
3| 5008 160 118 1.24 19.1¥19.1%0.95T
4| 5021 — ?fl | 60 1.55 1.62 20%20%1.2T
5 5080 20 6.0 1.90 2.00 20%20%1.5T
20 T=1.5
6 | Cwoos ng | 60 246 2.58 20%20%2.0T
20 =2,
7 | 5007B _ 25-140 6.0 1.67 176 05.4%)5 4%1 (T
.4 T=1,
s | 5007 =40 60 215 2.6 05.4%05.4%] 3T
25.4 T=1.3
9 | 5007A 25.4 6.0 2.99 3.14 05.4%25.4%1 85T
95 4 T=1.85
10| 5051 30 6.0 1.96 2.06 30%30%1.0T
30 T=1.0
11| 5037 30 6.0 4.02 4.2 30%30%2.1T
30 T=2.1
12 5053 30 6.0 4.20 441 30%30%2.2T
30 T=2.2
13 5058 31.9 6.0 5.60 5.88 31.9%31.9%2.8T
31.9 1=2.8
14 5057 38 6.0 6.93 7.27 38%38%) 9T
38 T=2.9
15| 5050 L 60 3.02 3.17 38.2%38.2%1 2T
38.2 T=1.2
16 | 5009 40 6.0 3.07 300 A0*40%1.15T
40 T=1.156
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17 | 5026 40 6.0 3.45 3.63 40%40%1.3T
40 T=1.3
18 | 5017 40 6.0 4.03 423 40%40%1.55T
40 T=1.55
19 | 5016 40 6.0 6.44 6.76 40%40%2.5T
40 T=2.5
20 | 5018 45 6.0 361 3.79 45%45%] 2T
45 T=1.2
21 5065 7.5 6.0 3.81 4.00 47.5%47.5%1 2T
47.5 T=1.2
22 | 5011B 20.8 6.0 4.43 4.65 50.8%50.8%1.3T
0.8 T=1.3
23 | 5011 °0.8 6.0 7.99 8.39 50.8%50.8%2.4T
50.8 T=2.4
24 | 5011C 08 60 0.85 10.35 50.8%50.8%3.0T
50.8 T=3.0
25 5047 80 6.0 7.82 8.21 80%80%1.45T
80 T=1.45
26 | 5072 100 6.0 19.99 20.99 100%100%3.0T
100 T=3.0
27 | 5048 016 1 60 13.22 13.88 101.6%101.6%1.93T
101.6 T=1,93
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